STATE OF ALASKA			No. AIP 3-02			Opened At:	4111 Aviation A	ve. Anchorage,	Alaska 99502	Certified True & Correct				
	of Transportation Public Facilities	Project	Name: Mand	okotak Airpor	t Relocation	Opened By	Charan I Cmit	DE Chief of	Contracto					
and rubile racilities		Locatio	n: Manokota	k. Alaska		Opened By: Date: August 2	Sharon L. Smit	i, P.E., Chiel of	Contracts	Sharon L. Smith, P.E. Date				
				., <i>,</i>		_	iled by BL	Checked by LB			,	ection, Central Region		
			Engin	neer's Estima	ate		uction Co., Inc.		skimos, Inc.		Ryan, Inc.	Page 1 of 5		
			9	iooi o Lotiiii			Airpark Place		eet, Suite 301		er Ave East	l age i ci e		
COM	PILATION OF BIDS		DBE	Goal: 0.00%	%		e, AK 99502		je, AK 99503		WA 98112	Contractor		
No.	Item	Unit	Approx. Qty	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	QAP		
D-701a(1)	CORRUGATED STEEL PIPE, 24 INCH	LF	1,054	\$93.00	\$98,022.00	\$120.00	\$126,480.00	\$250.00	\$263,500.00	\$165.00	\$173.910.00	240 W. 68th Avenue Anchorage, AK 99518 Total Basic Bid \$11,993,748.75		
D-701a(2)	CORRUGATED STEEL PIPE, 48 INCH	LF	72	\$200.00	\$14,400.00	\$210.00	\$15,120.00	\$350.00	\$25,200.00	\$400.00	\$28,800.00	Cruz Construction, Inc. 3852 N. Clark-Wolverine Rd Palmer, AK 99645		
D-760d	THAW WIRE INSTALLATION	ea	20	\$6,200.00	\$124,000.00	\$4,500.00	\$90,000.00	\$5,500.00	\$110,000.00	\$6,400.00	\$128,000.00	Total Basic Bid \$11,999.387.00		
F-162a	8' CHAIN-LINK FENCE	LF	65	\$45.00	\$2,925.00	\$55.00	\$3,575.00	\$105.00	\$6,825.00	\$60.00	\$3,900.00	Bering Pacific Construction 7801 Schoon St., Suite B Anchorage, AK 99518		
F-162d	4-FOOT SINGLE CANTILEVER GATE	ea	1	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$2,400.00	\$2,400.00	\$1,000.00	\$1,000.00	Total Basic Bid \$12,004,205.00 Brice Incorporated		
F-170a	STEEL BOLLARD	ea	11	\$500.00	\$5,500.00	\$1,000.00	\$11,000.00	\$1,000.00	\$11,000.00	\$700.00	\$7,700.00	3200 Shell Street P.O. Box 70668		
G-100a	MOBILIZATION AND DEMOBILIZATION	LS	All Req'd	LS	\$1,000,000.00	LS	\$370,000.00	LS	\$2,800,000.00	LS	\$1,000,000.00	Fairbanks, AK 99707 Total Basic Bid \$12,919,387.00		
G-115a	WORKER MEALS AND LODGING, OR PER DIEM	LS	All Req'd	LS	\$213,500.00	LS	\$190,000.00	LS	\$520,000.00	LS	\$15,000.00			
G-130a	FIELD OFFICE	LS	All Req'd	LS	\$25,000.00	LS	\$85,000.00	LS	\$27,000.00	LS	\$45,000.00			
G-130b	FIELD LABORATORY	LS	All Req'd	LS	\$16,000.00	LS	\$24,000.00	LS	\$17,500.00	LS	\$9,000.00			
G-130g	NUCLEAR TESTING EQUIPMENT STORAGE SHED	ea	1	\$7,000.00	\$7,000.00	\$12,000.00	\$12,000.00	\$5,500.00	\$5,500.00	\$6,000.00	\$6,000.00			
G-131a	ENGINEERING TRANSPORTATION (TRUCK)	ea	1	\$19,000.00	\$19,000.00	\$47,000.00	\$47,000.00	\$38,000.00	\$38,000.00	\$44,500.00	\$44,500.00			
G-131b	ENGINEERING TRANSPORTATION (ATV)	ea	1	\$6,500.00	\$6,500.00	\$12,000.00	\$12,000.00	\$16,500.00	\$16,500.00	\$11,000.00	\$11,000.00			
G-135a	CONSTRUCTION SURVEYING BY THE CONTRACTOR	LS	All Req'd	LS	\$80,000.00	LS	\$105,000.00	LS	\$198,000.00	LS	\$110,000.00			
G-135b	CONDITIONAL SURVEY PARTY	hr	50	\$250.00	\$12,500.00	\$275.00	\$13,750.00	\$293.00	\$14,650.00	\$300.00	\$15,000.00			

Project	No. AIP 3-02-0171- 0206/55313		Engine	eer's Estima	te	6441 S. Ai	ction Co., Inc. rpark Place , AK 99502		imos, Inc. et, Suite 301 , AK 99503	2404 Boye	van, Inc. er Ave East VA 98112
No.	Item	Unit	Approx. Qty	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
G-710a	HIGHWAY TRAFFIC MAINTENANCE	LS	All Req'd	LS	\$20,000.00	LS	\$12,000.00	LS	\$5,500.00	LS	\$13,000.00
G-710b	HIGHWAY FLAGGER	cs	All Req'd	CS	\$20,000.00	CS	\$20,000.00	CS	\$20,000.00	CS	\$20,000.00
G-710c	HIGHWAY TRAFFIC PRICE ADJUSTMENT	cs	All Req'd	cs	\$0.00	CS	\$0.00	CS	\$0.00	CS	\$0.00
G-710d	HIGHWAY TRAFFIC CONTROL	CS	All Req'd	cs	\$25,000.00	CS	\$25,000.00	CS	\$25,000.00	CS	\$25,000.00
L-100b	REGULATOR, L-828	ea	1	\$16,387.00	\$16,387.00	\$6,000.00	\$6,000.00	\$7,700.00	\$7,700.00	\$9,000.00	\$9,000.00
L-100d	MEDIUM INTENSITY RUNWAY EDGE AND THRESHOLD LIGHT, L-861 AND L-861E		52	#4 000 00	\$52,312.00	\$ 050.00	\$33,800.00	6745.00	\$27.400.00	Ø4 0F0 00	\$55,000,00
L-100e	TAXIWAY EDGE LIGHT, L-861T	ea ea	52 17	\$1,006.00 \$1,006.00	\$17,102.00	\$650.00 \$650.00	\$11,050.00	\$715.00 \$715.00	\$37,180.00 \$12,155.00	\$1,250.00 \$1,250.00	\$65,000.00 \$21,250.00
L-100p	HANDHOLE, L-867, SIZE B	ea	4	\$490.00	\$1,960.00	\$400.00	\$1,600.00	\$520.00	\$2,080.00	\$500.00	\$2,000.00
L-100q(1)	JUNCTION BOX, TYPE II	ea	7	\$450.00	\$3,150.00	\$800.00	\$5,600.00	\$870.00	\$6,090.00	\$1,000.00	\$7,000.00
L-100q(2)	JUNCTION BOX, PAPI	ea	17	\$690.00	\$11,730.00	\$800.00	\$13,600.00	\$990.00	\$16,830.00	\$900.00	\$15,300.00
L-101b	ROTATING BEACON, MEDIUM INTENSITY, L-801A	ea	1	\$12,000.00	\$12,000.00	\$6,000.00	\$6,000.00	\$7,100.00	\$7,100.00	\$12,000.00	\$12,000.00
L-103a	40-FOOT HINGED POLE BEACON TOWER	ea	1	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00
L-107b	12-FOOT LIGHTED WIND CONE, IN PLACE	ea	1	\$15,000.00	\$15,000.00	\$7,000.00	\$7,000.00	\$7,100.00	\$7,100.00	\$18,000.00	\$18,000.00
L-108a	UNDERGROUND CABLE NO. 8 AWG, COPPER, 5 KV FAA TYPE "C", L-824	LF	9,975	\$2.10	\$20,947.50	\$2.00	\$19,950.00	\$2.75	\$27,431.25	\$1.30	\$12,967.50
L-108c	NO. 6 BARE COPPER GROUND CONDUCTOR	LF	25,625	\$1.50	\$38,437.50	\$1.00	\$25,625.00	\$2.00	\$51,250.00	\$0.80	\$20,500.00
L-108g	GROUND ROD	ea	39	\$80.00	\$3,120.00	\$250.00	\$9,750.00	\$300.00	\$11,700.00	\$220.00	\$8,580.00

	No. AIP 3-02-0171-		Engi	neer's Estima	te	Knik Construction Co., Inc. 6441 S. Airpark Place			kimos, Inc. et, Suite 301	Kelly-Ry 2404 Boye		
	0206/55313		Liigi	5 Latinia			, AK 99502	Anchorage, AK 99503		2404 Boyer Ave East Seattle, WA 98112		
No.	Item	Unit	Approx. Qty	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	
L-108p	ARMORED CABLE, 10 AWG, JACKETED, 3- CONDUCTOR, COPPER, 600V, WITH SPLICES	LF	90	\$6.00	\$540.00	\$3.00	\$270.00	\$3.00	\$270.00	\$35.00	\$3,150.00	
L-109c	ELECTRICAL ENCLOSURE AND FOUNDATION IN PLACE	ea	1	\$29,000.00	\$29,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$40,030.00	\$40,030.00	
L-109d	INSTALLATION OF ELECTRICAL EQUIPMENT IN NEW STRUCTURE	ea	1	\$33,000.00	\$33,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	
L-110a	2-INCH RIGID STEEL CONDUIT	LF	800	\$22.00	\$17,600.00	\$10.00	\$8,000.00	\$10.00	\$8,000.00	\$17.00	\$13,600.00	
L-110g	2-INCH HDPE CONDUIT	LF	20,350	\$16.00	\$325,600.00	\$5.00	\$101,750.00	\$5.00	\$101,750.00	\$5.00	\$101,750.00	
L-135e	RELOCATE AWSS	LS	All Req'd	LS	\$6,000.00	LS	\$10,000.00	LS	\$40,000.00	LS	\$45,000.00	
P-151a	CLEARING	ac	201.3	\$3,000.00	\$603,900.00	\$8,900.00	\$1,791,570.00	\$2,500.00	\$503,250.00	\$7,000.00	\$1,409,100.00	
P-152a	UNCLASSIFIED EXCAVATION	yd ³	2,000	\$5.00	\$10,000.00	\$10.00	\$20,000.00	\$7.00	\$14,000.00	\$9.15	\$18,300.00	
P-152e	BORROW EXCAVATION	yd³	410,500	\$9.65	\$3,961,325.00	\$11.50	\$4,720,750.00	\$9.25	\$3,797,125.00	\$11.90	\$4,884,950.00	
P-152r	SUBGRADE PREPARATION	yd²	143,500	\$1.00	\$143,500.00	\$0.50	\$71,750.00	\$0.60	\$86,100.00	\$1.70	\$243,950.00	
P-154a	SUBBASE COURSE	yd ³	17,200	\$23.00	\$395,600.00	\$19.00	\$326,800.00	\$28.00	\$481,600.00	\$22.90	\$393,880.00	
P-157a	EROSION AND POLLUTION CONTROL ADMINISTRATION	LS	All Req'd	LS	\$8,000.00	LS	\$10,000.00	LS	\$5,500.00	LS	\$25,000.00	
P-157b	TEMPORARY EROSION AND POLLUTION CONTROL	CS	All Req'd	CS	\$25,000.00	cs	\$25,000.00	CS	\$25,000.00	CS	\$25,000.00	
P-165a	REMOVAL AND DISPOSAL OF EXISTING STRUCTURES	LS	All Req'd	LS	\$25,000.00	LS	\$25,000.00	LS	\$40,000.00	LS	\$45,000.00	Page 3 of 5

Proje	ct No. AIP 3-02-0171- 0206/55313		Engi	neer's Estima	ate	Knik Construction Co., Inc. 6441 S. Airpark Place Anchorage, AK 99502		3900 C Stre	et, Suite 301 A. AK 99503	Kelly-Ryan, Inc. 2404 Boyer Ave East Seattle, WA 98112		
No.	Item	Unit	Approx. Qty	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	
P-208a	CRUSHED AGGREGATE SURFACE COURSE	yd³	33,000	\$40.00	\$1,320,000.00	\$22.00	\$726,000.00	\$32.50	\$1,072,500.00	\$28.00	\$924,000.00	
P-640b	SEGMENTED CIRCLE (PANEL-TYPE)	LS	All Req'd	LS	\$30,000.00	LS	\$35,000.00	LS	\$43,000.00	LS	\$30,000.00	
-650a	SOIL ANCHOR TIE- DOWN, BURIED PLATE	set	4	\$500.00	\$2,000.00	\$600.00	\$2,400.00	\$1,500.00	\$6,000.00	\$275.00	\$1,100.00	
P-660b	REFLECTIVE MARKER, TYPE II	ea	69	\$60.00	\$4,140.00	\$75.00	\$5,175.00	\$100.00	\$6,900.00	\$30.00	\$2,070.00	
P-660c	REFLECTIVE MARKER, TYPE III	ea	20	\$104.00	\$2,080.00	\$95.00	\$1,900.00	\$100.00	\$2,000.00	\$80.00	\$1,600.00	
P-660d	GUIDE MARKER	ea	271	\$50.00	\$13,550.00	\$50.00	\$13,550.00	\$100.00	\$27,100.00	\$30.00	\$8,130.00	
P-661a	STANDARD SIGN	ft ²	130.5	\$93.00	\$12,136.50	\$140.00	\$18,270.00	\$140.00	\$18,270.00	\$38.00	\$4,959.00	
P-671a	RUNWAY CLOSURE MARKER, VINYL MESH PANEL	ea	4	\$5,000.00	\$20,000.00	\$4,000.00	\$16,000.00	\$400.00	\$1,600.00	\$700.00	\$2,800.00	
P-681a	GEOTEXTILE, SEPARATION	yd ²	205,210	\$1.75	\$359,117.50	\$2.00	\$410,420.00	\$1.40	\$287,294.00	\$2.65	\$543,806.50	
S-142a	EQUIPMENT STORAGE BUILDING (CONCRETE FLOOR)	ea	1	\$650,000.00	\$650,000.00	\$650,000.00	\$650,000.00	\$200,000.00	\$200,000.00	\$780,000.00	\$780,000.00	
S-142e	HOIST SYSTEM	ea	1	\$5,500.00	\$5,500.00	\$6,000.00	\$6,000.00	\$5,200.00	\$5,200.00	\$7,000.00	\$7,000.00	
-142f	HEATING SYSTEM	ea	1	\$45,000.00	\$45,000.00	\$65,000.00	\$65,000.00	\$43,000.00	\$43,000.00	\$55,500.00	\$55,500.00	
-143a	HEATING FUEL TANK, 3,000-GALLON	ea	1	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$22,000.00	\$22,000.00	
S-143b	FUEL	LS	All Req'd	LS	\$22,500.00	LS	\$15,000.00	LS	\$30,000.00	LS	\$13,000.00	
S-143d	ELECTRIC DISPENSING SYSTEM	ea	1	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$4,600.00	\$4,600.00	
S-143e	MOTOR VEHICLE FUEL-DISPENSING TANK, 2,500-GALLON	ea	1	\$11,400.00	\$11,400.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00	\$32,000.00	\$32,000.00	
S-143f	SPILL PREVENTION CONTROL AND COUNTERMEASURE PLAN	LS	All Reg'd	LS	\$5,000.00	LS	\$5,000.00	LS	\$2,200.00	LS	\$10,000.00	
			7 1.CQ u		ψ0,000.00	1	ψ0,000.00		Ψ2,200.00		\$10,000.00	

Projec	ot No. AIP 3-02-0171- 0206/55313		Eng	jineer's Estir	nate	6441 S. Ai Anchorage	Knik Construction Co., Inc. 6441 S. Airpark Place Anchorage, AK 99502		SKW/Eskimos, Inc. 3900 C Street, Suite 301 Anchorage, AK 99503		Kelly-Ryan, Inc. 2404 Boyer Ave East Seattle, WA 98112	
No.	Item	Unit	Approx. Qty	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	
T-901a	SEEDING	ac	27.5	\$2,400.00	\$66,000.00	\$1,500.00	\$41,250.00	\$1,640.00	\$45,100.00	\$3,502.00	\$96,305.00	
T-901c	WATER FOR MAINTENANCE	M-gal	1,375	\$25.00	\$34,375.00	\$10.00	\$13,750.00	\$50.00	\$68,750.00	\$98.00	\$134,750.00	
U-510c	LOAD CENTER, TYPE 2	ea	5	\$2,100.00	\$10,500.00	\$4,000.00	\$20,000.00	\$4,400.00	\$22,000.00	\$3,400.00	\$17,000.00	
	TOTAL BASIC BID				\$10,116,857.00		\$10,580,005.00		\$11,447,700.25		\$11,837,738.00	